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QUESTION 1

A document-style service defines a document passed to the Web service using xsd:anyType in the WSDL file that
describes the service. How should the document be typed in Java? 

A. use javax.xml.soap.Element 

B. use javax.xml.soap.Node 

C. use javax.xml.soap.SOAPHeader 

D. use javax.xml.soap.SOAPElement 

E. use javax.xml.soap.SOAPFault 

F. use javax.xml.soap.SOAPBodyElement 

Correct Answer: D 

 

QUESTION 2

A developer created a Web service client that sends requests to the company\\'s inventory service. The quality
assurance team reports a problem during testing. The client does not work in some cases and the QA team reports that
the client is sending malformed SOAP messages. The software is returned to the developer for resolution. 

What is the result? 

A. One or more class cast exceptions are returned in a SOAP message. 

B. A SOAP fault that surfaces as a HTTPException because SOAP is serializable. 

C. A SOAP fault surfaces as a SOAPFaultException. 

D. A generic exception results because Java details are not to be mingled with SOAP. 

Correct Answer: C 

 

QUESTION 3

Given the Java fragment and schema: 

1.

 //-- Java code fragment 

2.

 public enum USState {MA, NH} 

3.
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 //-- Schema fragment 

4.

  

5.

  

6.

  

7.

  

8.

  

9.

  

10.

 // .NET auto generated code from schema 

11.

 public enum usState { NH, MA } 

Which statement is true about .Net and WCF interoperability for this data? 

A. Based on the fragment, enumerations map well between Java and .Net. 

B. The subtle differences in the variable names make it clear these enumerations are NOT interoperable. 

C. The XML schema reveals the type on the enumeration is lost across the platforms. 

D. This exchange would be interoperable if the annotation @XmlEnum was applied to the Java method. 

Correct Answer: A 

 

QUESTION 4

Which two statements are true about the I-Stack and annotations technologies? (Choose two.) 

A. With 64-bit Java, JAXB compatible parameters are preferred for performance. 

B. @WebMethod is required for private methods, but public methods are exposed in any service automatically. 

C. Declaring business methods final is a good way to protect the integrity of the implementation class. 
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D. Method parameters and return types must be compatible with the JAXB 2.0. 

E. JAX-WS uses annotations to invoke Web service requests at runtime. 

Correct Answer: DE 

 

QUESTION 5

Which two statements are true about the Web services? (Choose two.) 

A. SOAP messages are compressed during transport. 

B. You must implement session tracking via HTTP cookies. 

C. The WSDL defines services as collections of network endpoints. 

D. All data shared between Java and non-Java components must be in XML format. 

E. Data interchange is standardized in XML. 

F. Stateful Web services must be implemented in a heterogeneous environment. 

Correct Answer: CE 
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